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FiLa -A-

Momento Flettente

D.0000 0,0000 b.0000 0,0000
152,9580 62,9580
-62,9580 62,9580 -62,9580 62,9580
1170420 117,0420
. 180,0000
202,5000 ;
X
Taglio
l20 9860 20,9860 L20,6860 20,9860
50,0000
50,0000
-30,0000
-90,0000 L
X
h,0000 h,0000 D,000D h,0000
120,9860 20,9860
69953 | ' p.9955
-13,9907




FiLA -B-

Momento Flettente

0,0000 h,0000 D,0000 00000
63197 A3187
11,2725 33,7275 33,7275 .
11,2725
45,0000 45,0000 L
X
Taglio
{12425 [11,2425 L1,2425 1,242
18,7575 0,0000 0,0000 -18,7575

k.

Sforzo Normale

0,0000 ‘ D,0000 D,0000 ‘ 00000
11,2425 ' ' 11,2425
3.7475 [ | [ | | 57475/

-7.4950
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